
I buy some chips and a coke. 
The total comes to £1.49.
I pay with a £2 coin.
What change do I get?

What is the difference?

What is the sum of..

Add

Minus

Plus

Find the total

How much more than..

How much less than..

How much altogether?

1)

2)

A sandwich weighs 239g.
An apple weighs 56g.

How much more does the sandwich weigh?

3)

4)

5)

A Burger is 19cm tall.
A pie is 24cm tall.

How much taller is the pie than the burger?

LO: Word problems using addition and subtraction.

Subtract Addition

Put the question words into the right column.


